Homework 6.6: Review of Parallelograms & Quadrilaterals  Name: _J_(f‘y{—"

Math 3
1. Use the diagram below to solve for x and y if the figure is a parallelogram. 0 R
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2. Find the measure of each angle if the figure is a rhombus. AD =
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c) Find the mz3. S5 d) Findthe mz4. 70
3. Solve for x if the figure is a rhomibus. 4. Solve for x if the figure is a rectangle.
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5. What is the length of LN if the figure is a 6. Solve for the missing angle measures if the figure
rectangle? 0 is @ rhombus. 1290
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7. What is the length of SW? 8. Solve for x if the figure is a rhombus.
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